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HEHEE
FRAR - MEMTERE T
1. BRhR - MEHTERE T

1) KREEI AR#t (CCA%t)
200 mm x 1500 mm t = 35 mm
N = 213

A = 0.200 x 1.500 x 213

V = 63.900 x 0.035

2) HtHTHEET A% (CCA%f)

90 mm X 90 mm L = 42.600 m N = 4 5|

L = 42600 x 4

A = 0.090 x 0.09

= 0.008 x 170.400

<

3) FRhR - fitHTHET
A = 63.900 + 0.008

2. BE#n T
A#+ (CCA#f)

W = 2.231 + 1.363

3. RIRERE T

1) KRIRFRET (AIAK#H)
145 mm x 1500 mm t = 35 mm
N = 293
115 mm x 1500 mm t = 35 mm
N = 1

A = 0145 x 1.500 x 293
A = 0115 x 1500 x 1

4. fEMTERET
1) HEHTERET (SRS A HE)
L = 42600 x 4
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